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§ 5.5 Exponential v.v.

Def . Let × > 0 . Say × is an exponential v.v .
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Example : Find E- [XI and V( X)
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Suppose that the length of a phone call in minutes is an 
exponential random variable with parameter λ = 1/10 . If 
someone arrives immediately ahead of you at a public 
telephone booth, find the probability that you will have to 
wait
(a) more than 10 minutes;
(b) between 10 and 20 minutes.

Éamp .

Solution : Let X be the waiting time in minutes
.

Then ✗ is an exp . v.v.
with parameter D= To .
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is

• ✗ e-
"✗
dxcar P{ × ≥ to } = f.

= - e-
* 1 ?

= e-
""°

= e-
1.

'b ' P{w≤✗ ≤ ao} = - e-¥
"

10

= g-
%
- e-

&

•


